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Definition 1. Axiom 5(a) for a function ob ∶ 𝒫(𝑈) → 𝒫(𝒫(𝑈)) says that ∅ ∉ ob(𝑋) for all
𝑋 ∈ 𝒫(𝑈).
Definition 2. Axiom 5(b) for a function ob ∶ 𝒫(𝑈) → 𝒫(𝒫(𝑈)) says that

∀(𝑋𝑌 𝑍 ∶ 𝑆𝑒𝑡𝑈), 𝑍 ∩ 𝑋 = 𝑌 ∩ 𝑋 → (𝑍 ∈ 𝑜𝑏𝑋 ↔ 𝑌 ∈ 𝑜𝑏𝑋)

Definition 3. Axiom 5(d) for a function ob ∶ 𝒫(𝑈) → 𝒫(𝒫(𝑈)) says that

∀(𝑋𝑌 𝑍 ∶ 𝑆𝑒𝑡𝑈), 𝑌 ⊆ 𝑋 → 𝑌 ∈ 𝑜𝑏𝑋 → 𝑋 ⊆ 𝑍 → 𝑍 𝑋 ∪ 𝑌 ∈ 𝑜𝑏𝑍

Definition 4. Axiom 5(bd) for a function ob ∶ 𝒫(𝑈) → 𝒫(𝒫(𝑈)) says that ∀(𝑋𝑌 𝑍 ∈ 𝒫𝑈), 𝑌 ∈
ob 𝑋 ∧ 𝑋 ⊆ 𝑍 → 𝑍 ∖ 𝑋 ∪ 𝑌 ∈ ob 𝑍.

Theorem 5. If ob satisfies 5(b) and 5(d) then it satisfies 5(bd).
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